1. [bookmark: _GoBack]A G1P0 at 25w6d was transferred to a Level IV hospital after an examination that she was laboring with her infant in the double footling breech presentation. She received an urgent C-sect. The vertex was delivered first.
   Fetal Presentation:  (select one)
     ___ Cephalic	     ___ Breech    ___ Other
   Indications for C-section
    ___ Unknown
   Select all that apply
    ___ Failure to Progress	     ___ Malpresentation                                     ___ Previous C-sect	
    ___ Fetus at Risk (NRFHT)   ___Maternal Condition-Preg. Related	___Maternal Condition-Not Preg. Related
   ___ Refused VBAC	     ___ Elective	                                               ___ Other

2. The same mother now a G2P1 is delivered by C-sect the following year.
   Indications for C-section
    ___ Unknown
   Select all that apply
    ___ Failure to Progress	     ___ Malpresentation                                     ___ Previous C-sect	
    ___ Fetus at Risk (NRFHT)   ___Maternal Condition-Preg. Related	___Maternal Condition-Not Preg. Related
   ___ Refused VBAC	     ___ Elective	                                               ___ Other

